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THREE YEAR B.A. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2019

CHOICE BASED CREDIT SYSTEM
FIFTH SEMESTER

Part I — Accountancy
(Elective - I : Accounting)

Paper 3:5.3 — ADVANCED CORPORATE ACCOUNTING

(Common for B.Com., General, ASP & SM, CA and Taxation)
(WEF. 2017-18) !

Time : 3 hours

1. (a)
(b)
(¢
(d)
(e)
®
(g)

(h)

SECTION - A
PES -

Answer any FIVE of the following questions.
1808 T3S® I DO (DO DAFF D EAHAW.
(Marks : 5 x 3=15)

Importance of Accounting Standards.

©8"0eS0M (D177 [DPS0P5B.
Purchase consideration.
E0R en 158900.

Define Internal Re-construction.
@OBEG YHIITYETRY DEGDOBOCs.
What is Voluntary liquidation?
TGS H83D77% @085 D632
Post-Acquisition profit.

R0 e BHoegd ergso.

Capital Redemption Reserve.
Do BROY Basdds.

Define Holding Company.
F*YoR Eod dE5D0H0E.

Who is the Liquidator?
98B 083 JHK?

Max. Marks : 75
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4.

- Explain the essentials of accounting standards in accounting proc
©3F°0t3oh OErHoS® @3 otdof [Hhrrere @BE); @HITO) 9580%0G.

SECTION - B
NES - B

Answer ONE question from each Unit.
5O 0577065 o0& 2.8 (595 SO ErRD0R0Y:

(Marks : 5 x 12 = 60)
UNIT -1

Or

Explain the list of Indian Accounting Standards.
PEBA ©T0e3oR (SITeETe PREERD 9900508,

UNIT - 11

edure.

Given below are the Balance Sheet on 31-3-2015 of Ram Limited and Gopal Limited.

Which are Amalgamated to form a new company Ramgopal Ltd.
Ram Ltd.

Liabilities

Share capital

@ T100each
Capital Reserve
Profit and Loss A/c.
General Reserve
Loans

Other habilities

Gopal
z Ltd. T
' Goodwill

1,00,000 2,00,000 Buildings

50,000 10,000 Plant
40,000 — Furniture
10,000 — Stock
80,000 60,000 Debtors
20,000 80,000 Bank

Profit and Loss A/c.

3,00,000 -3,50,000

Assets

Ram Ltd. Gopal
3 Ltd. ¥
- 40,000
30,000 25,000
60,000 80,000
5,000 10,000
1,00,000 1,40,000
1,04,000 13,000
1,000 2,000
- 40,000
3,00,000 3,50,000

The shareholders in Amalgamating company are to be allocated fully paid equity share

in Ramgopal Ltd. are there consideration at ¥ 10 each. New company taken all assets
and liabilities at book value except Goodwill and Profit and Loss Account of Goptal Ltd.
Show the Balance Sheet and journals in the books of Ramgopal Ltd.

8K Dobads 31-3-2015 T3 T JWBE DBy K>S BE. & ehpe 5, d

H0@BTK0 D08 TR S OEBE e RIS LoDV PedoDoT.

Ipen
FTPET° TR0

@ %100
e Bty
e°es :6%0 e
Fproes Basdog
P

ﬁ‘;?n.PDGD

oodo Ltd. RS Litd. 3
z
7 &S
1,00,000 2,00,000 #Saren
50,000 10,000 2roéS
40,000 —  SG»E
10,000 — DB
80,000 60,000 2ooeTHE
9

A

oo Ltd. At Litd.

g

30,000
60,000
5,000
1,00,000
1,04,000

]
40,000

25,000
80,000
10,000
1,40,000
13,000
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oo Ltd. A% Ltd. it oo Ltd, At Litd.

e 4 4 - z z
ABY vgpen 20,000 80,000 &rg0%H 1,000 2,000
eres dpo grar = 40,000
3,00,000  3,50,000 .73,00,000 3,50,000

QoArKo DodD PORS'D TN RS dMBE BT DYodd &a8ged Treredd
10 S"aps éwcmoav@ 78 ¥oDd &9 $B050 edpes HE Devid émg‘@a 287, Ko
IRUBESD 0ES wban o dape wrEr B CHFSS dBE DIses® verbees
DB &) wHpe SeD BarEd DaHod.

Or _
X and Y Limited are doing some business both are liquidated and registered as
XY Limited. New company paid 100 per share for there purchase consideration. Both
companies' balance sheets as follows :

Liabilitics XLtd.  YLtd. Assets = Ltd.' Lt
? : 7 g

Share capital ~ Fixed Assets 4,50,000 6,20,000
@ ¥ 100 each ©3,00,000 4,00,000 Current Assets - 50,000 80,000
Capital Reserve 60,000 40,000 | |
Profit & Loss Afec. 40,000 60,000
Creditor _ 80,000 1,50,000
Bills payable 20,000 30,000
Other liabilities — 20,000 ;

5,00,000 7,00,000 : 5,00,000 7,00,000

New company taken all assets and liabilities at book value. Show journals and balance
sheet of XY Ltd. ‘
X H08ain Y 0838w o8 Te0RY) DT, BoT IBVH) D08 8ot XY dvBET

I DAHAESE. E°8 Lol Soften 39500 §°6% % 100 5@0&:\’)& 3HHB Lowde e

)P a%ge» e Do fsaj;lan
S I;td 'Y I;Ld' e | X Igtd. .. I;td.
ToeT BTOEH0 20700 4,50,000  6,20,000
@ T 100 T, 3,00,000 4,00,000 HToRven : 50,000 80,000
Boore s Bestis 60,000 40,000
g Hipo T 40,000 60,000
REITEHOD 80,000 1,50,000
5620@ Degen 20,000 30,000 -
ABS edpen - — 20,000
5,00,000 7,00,000 : 5,00,000  7,00,000

578 5o esiyen S0Bahy egpess HI¥ Jevss éms":aa XY 02086 Gk, eshy engpo 563
SoBafw e JEO S0k W
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The Balance Sheet of Kiran Ltd. is as follows.

Liu.bi]ities Amount 2 Assels Amount %

10,000 LEquity shares of Goodwill 10,000

T 10 each 1,00,000 . Other fixed assets 90,000

10,000, 7% preference shares Stock 25,00b
of

T 10 each 1,00,000 Debtors 30,000

Profit & Loss Ale. 45,000

2,00,000 2,00,000

It was resolved that equity shares of T 10 each be reduced to fully paid shares of T 6
each. 7% preference shares of ¥ 10 each be reduced to T 7% fully paid preference shares
of ¥ 6 each. It was further resolved that the amount to available be used for writing off
the debit balance of profit and loss account. Goodwill and other fixed assets as much as

possible. Give journal entries and prepare revised Balance Sheet.

8585 dBE dfmgb 30 ©Po ﬁé e Do &8,

eJpen Zmé_é;o S &9‘(1_39&) o T
10,000 <5e8ged Teeren | KEIS 10,000
2575, T 10 "3 1,00,000 =&Y %U""«J_Joeu 90,000
10,000, 7% e8%5%) Teren o) | 95.000
2.57,4,6 T 10 S5 1,00,000 200e3(Aoen 30,000
AR OF iy 45,000
2,00,000 2,00,000

e 28838 T 10 edged DoTeisvo T 28,088 T 6 I8 3oy Twreow BRoTd. Ter
287,863 T 10, 7% 5 Terodn T4, T6 I8 2900 TeTeon BRoTd @
SoEBoVEIB. TOE e So DO STYIOBEIHB. wotoerenS® &y o e rE,
aoes deg B HEISH Jror 88y IS, HBHoE ABY JoREW B SEB0eH
&I@BIROTD. WHVEDH e HeEen T, HVsDTYE e5d) @Pe JIV S BAboE.
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7. Varun Co. Ltd. has.t}

;o SESHERE following Balance Sheet as on 31-12-2015.
Liabilities

Amount 2 Assets Amount ¥

4000, preference shareg Goodwill 2,00,000
of T100 each 4,00,000 Buildings 2,20,000
6000, equity shares Machinery 1,80,000
ol T100 cach 6,00,000 Stock , 1,60,000
Creditors 2,00,000 Debtors 1,80,000
Cash 20,000

Profit and Loss A/c. 2,40,000

~12,00,000 12,00,000

Considering its financial position, a capital reduction scheme is decided as follows.

(a8) T 100 equity and preference shares are to be reduced to T 50. ,
(b)  The amount is to be used to write off goodwill and profit and loss account.
(¢)  Buildings are to be reduced by ¥ 30,000 and machinery by ¥ 20,000.

(d)  The balance is to be used to create reserve for bad debts.

Pass entries and prepare Balance Sheet. '

31-12-2015 73 38065 §°. 92086 esd) @pe 3¢ s Diforr &ob.

P 2080 T es0e0 Q&o T

4,000, e85 Teeen 106 2,00,000
2.57,5,63 T 100 559 4,00,000  Z55T°e0 2,20,000

© 6,000, 9853 Trerren ahoEren 1,80,000

257,463 T 100 S35 6,00,000 DB . 1,60,000
2ETH) 2,00,000  20efe 1,80,000
HKE 20,000

783 :ﬁ%ve roEEe 2,40,000

©12,00,000 12,00,000

2 eﬁ@ﬁg ggefs)x) SBHE3RT®, 0T BR0Y) IE5RY) Fa (BoB dEo DFa0BEHE. |
(@) T 100 Ko Sedged 208050 e Tereid a.8),0638 T 50 0% SROVENS.
(b) & 20erdg HEDS 2BA 7 dpe FrErdy 8K SETD.
(©) @smreos T 30,000 $RoT 2080k aboErero T 20,000 RoTd.
| ) . 0RID Dozeds TR 28 Bestiogio omyen Dasred.
D6 D0 00D D0BA%N e P b@z) HATeE Dood.
3] @

5 | . 15102
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UNI'T - 1V

From the following data relating to o company, you are require to prepare liquidator
final statoment account,

(0)  Cash with liquidator (Alfter all assets realised and secured  creditors and
debentures ave paid) is € 6,753,800,

(b)  Preferential ereditors to be paid, T 30,000,

() Othor unsccured creditors, € 215,000,

() 4,000, 6% preference shares of T 100 each fully paid up.

(€) 2,000, equity shares of T 100 ench, T 76 per share paid up.

(® 6,000, cquity shares of T 100 each, T 60 per share paid up.

(8)  Liquidators remuneration 3% on preferential and other unsecured creditors.

(h)  Preference dividends were in arrenrs for 2 years. '

Fo (808 Jdoren &8 EodE Mowofondd. bl upron ¥GEWE BB I3 oy BASTE)

Jaod.

(0)  OFgEeB B aiy PR € 6,73,800 (3985 Ko axvearrtion B0 GBOBELD 3oy DD
BOEEH O GO BARSOYP ST ORD).

(b) BREFR) WOETBOK IDoddedd, T 30,000.

(©) 2BY FBY avesmEen, T 2,15,000.

(d) 4,000, 6% ea@gg@ IreToe) a,g“bs'bef’) T 100 S°JpR g BQOS)K)&).

(e) 2,000, o83t Trerren T 100, T 75 3Yo0HA.

() 6,000, Ss8ged oo T 100, T 60 DYoRE.

(@) O3gGed 28830, &5 HBALH ABE FWBD avemde D 3%.

(h)  ©B5R) GITOE 2 JoIBYT oK) 5TV GO

Or

~ From the following information, prepare liquidators final statement account showing the

payment made to the unsecured creditors.

(a)
(b)
(©)
(d)
(e)

®

-Secured creditors, ¥ 45,000 (security realised - ¥ 50,000)

Preferential creditors, T 2,000

Unsecured creditors, ¥ 60,000

Winding up expenses, T 500 :

The liquidator is entitled to a remuneration of 3%. On the amount realised

(including securities in the hands of secured creditors) and 2% on the amount
distributed to unsecured creditors.

The various asset realised - ¥ 55,000. (excluding the securities in the hands of
secured creditors).
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10.

To 1508 ddve Byod O8Geod BB DBE groe HOITK 32, 9% Bd wneerded DYoH

211)@;:‘001 Dm0, |

(@) 5% Ko anemedes T 45,000 (5000 HHres T 50,000)

(b) ea@gg@ awemrHey T 2 000. |

(©) I8 vsmrsen T 60,000.

() $6RRD Py T 500.

(@) I Ko awnode I8S® Ko s I Bl e DI P igauiBe 8% Sin

OSROT B0 avncBed Yoo dugo P 2% THHP PEHLO 3900635

- ©ORSERRA. |

) ad8 edo P 950838 T 55,000. (SDoeore ad)d edyen S*EOG")

UNIT-V

Hari Ltd. purchased all the shares of Raja Ltd. on 1-1-2011. On 31-12-2011 both
companies Balance Sheet as follows.

Liahilies Hari Ltd. Raja Ltd. Assets Hari Ltd. Raja Ltd.
' ES ks ! Z Z
Share capital 1,00,000 60,000 Various assets 1,30,000 1,40,000
Reserve (On 1-1-2011) 40,000 30,000 Purchase value
Profit and Loss Alec. 50,000 20,000 of share in Raja Ltd. 1,00,000 =
Creditors 40,000 30,000 '
2,30,000 1,40,000 ' 2,30,000 1,40,000

‘On 1-1-2011 Raja Ltd. Profit and Loss Account show a credit balance of ¥ 6,000. You are
required to prepare consolidated Balance Sheet.

oo OBESD Ry Teron 1-1-2011% T8 dBE S0f'er Ivo8. 31-12-2011 =8
Flo b9 06! 93_9‘}3 PO :Jééel) Be SO &I,

e 8 Ltd. ovee Lid. ey 58 Ltd. ooz Ltd.
¢ 5 ‘ z I
ST BOTOH0 1,00,000 60,000 555 esoen 1,30,000 1,40,000
Bastiog (1-1-2011 %) 40,000 30,000 grg 920BES® e
o Bige e 50,000 20,000 £°%57%e e 1,00,000 = —
. 40,000 30,000 '

930,000 1,40,000 230,000 1,40,000
1-1-2011 % v OWBESD ergs dpo grE B&eS Deg ~ ¥ 6,000. 8B ey @pe eI
édjq"’&) 30508,

Or

7 - 1-5-102
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11. The Balance Sheet of Indira Ltd. and Balu Ltd. on 31-12-2016 as follows : | :
. Indira Ltd. Balu Ltd.

Liabilities
Share capital
@ 710 each

General reserve

P &L Ak
Creditors'

Indira Ltd. Balu Ltd.

¥ Ed
300,000 80,000
1,00,000 10,000

40,000 25,000

75,000 15,000

5,15,000 1,30,000

Assets . <
Buildings 2,00,000
Machinery ' 1,25,000
Investment — 25,000
Stock 45,000 60,000
Debtors 40,000 35,000
Bank 15,000 10,000
Shares in Balu
Ltd. @ €15 each 90,000 —

5,15,000 1,30,000

On the date of purchase of Balu Ltd. P & L A/c. and Reserve Alc. show the balance of
% 16,000 and ¥ 2,000 respectively. Prepare consolidated Balance Sheet.

31-12-2016 7re38 2085 O2BE 20805 wrer JWBE By, 8l wpo Dy & o

e%aaouo.
&IPeD

TP IR0
@ T10 3P

AprSes Bestog
e ?();Ego By

20EITBHEV

2o8ce Ltd. eren Ltd.

z z
3,00,000 80,000
1,00,000 10,000
40,000 25,000
75,000 15,000
5,15,000 1,30,000

3080 Ltd. eren Ltd.

SOV
: E3 ES
ATV 2,00,000
adoEen 1,25,000
DePCdOO — 25,000
DB 45,000 60,000
ees|fduen 40,000 35,000
20 15,000 10,000
2ren ODBESD |
Treren T15 STIpR 90,000 —
5,15,000 1,30,000

ERoR%e B8 7738 aren OWBES™D ol dye Proe HH8dn Bestiges HKST T 16,000 -

208050 T 2,000 e &mmon. 2E5)B el epo 53D ST Jabod.

1-5-102
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THREE YEAR B.Com. DEGREE EXAMINATION — MARCH/ APRIL 2019
CHOICE BASED CREDIT SYSTEM
SIXTH SEMESTER
Part -1
Paper 6.1 — ADVANCED COST ACCOUNTING
(Common to ASP & SM, CA, General & Taxation)

Time : 3 hours Max. Marks : 75

SECTION - A
WES -
Answer any FIVE questions from the following. Each question carries 3 marks.
808 TS” T D&Y SO IIrEEHAVes FPAHRN. (B [HEH 3 Sty en.

(Marks : 5 x 3 = 15)
1. (a) Cost Profit.
550‘13 ergjo.

(b) Normal loss.
EvaaRletar) ?63"}0.

(c) Abnormal gain.

RO P80,

(d) Operating cost.
DYgIeea Sgaso.

(e) Actual cost.
960 éo‘,oﬁ)m"g Sgaoo.

() Material cost variance.

2638006 Sgah 8¢

(g0 Budget.

(h) Budget costing.
© ges sPRof.

P.TO)
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SECTION - B
NS - ©
Answer ONE question from each Unit.
0 508 TS (38 afadeS 308 e (390 DRIEUHD e SURESE
(Marks : 5 x 12 = 60)
UNIT I

Define Reconciliation statement. Explain the reasons behind cost profit and financial

profit.
FoRgad ADBED dgDOBd. FF oo DAy PIPANS oo Baren THGERE Ko
S8 e3?

Or

From the following figures prepare a reconciliation statement.

Rs.
Net profit as per financial records 1,28,755
Net profit as per costing records . _ 1,72,400
Works overhead under récovered 1n costing 3,120
Administration overhead recovered in excess 1,700
Depreciation charge in Financial records 11,200
Depreciation recovered in cost | i 12,500
Internet received but not included in costing 8.000
Obsolescence loss charged in financial records | 5,700
Income tax provided in financial records 750
Stores adjustments (credit in financial books) 475
Depreciation of stock charged in financial books 6,750

2-6-101
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808 D307 K00D HRoPgoH VDBERL BATE Dapod.

_ &,

8% D58%0 Bso S &g | 1,285
s°R 8578y 5~ DS ergfo } 1,72,400
SRoR @580 96),y 896rEY S 3120
QI FITE I &0 RS P o - 1,700
PTRADS B [FSB0 BEMOEO 11,200
5] 8oy 950 Soroee | 12,500
D90 3G 5 83»55;3‘@55 @0 B 8,000
PTPODS Hosees® @D HL), derd - 5,700
PTYONS I TR GaL By ’ 750
58y dgeren (FANS @gsvoé‘ B&®) _ 475
| PTRADS Hisre HESTE0 S HHKOSE | | 6,750

o) ]

UNITII

What are the characteristic features of process costing? How do you calculate abnormal
loss and abnormal gain? ' ; :

R s*’g’)or‘{) B0y oFeTen A7 IGED Jga0 Bo8a%w ErSes TR Jere Béba‘g@?
Or

In a process 100 units of raw materials were introduced at a cost of Rs.1,000. The other
expenditure incurred by the process was Rs.602 of the units introduced 10% are
normally loss in the course of mahufacturing and they possess a scrap value of Rs.3 each
unit. The output of process was only 75 units. '

Prepare process account and abnormal loss account. .
2& @RHS 100 clrpey 8 &P1,000 FELERE. RS PEe0 K602, FIFVED
100 G086 a0 10% S50 D908, 257, AHIDSH) Bk, Jevd 6773 BgEtD.
L@v%)f)éﬁ &) @00 YO T5 AIDeY IV | | |
05 v 280 GRS SHO FET SS0d.

3 o 2-6-101
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UNIT III

Cost of Truck Rs.3,60,000 .
‘ Insurance..annual Rs.1,600
Garage Rent (Annual) Rs.12,000,
Road license (Annual) Rs‘._2,40(}.
- Supervision and salaries, Rs.54,060.
Driver's wages per hour Rs.40. ;
Cost of fuel per liter Rs.60.
Km run per liter 20.
Tyre allocation per km Rs.20.
" Repairs and maintenance per km, Rs.20.
" Estimated life of the Truck, 1,00,000 km.
Charge interest @ 5% on the cost of the truck.
The truck runs 20 kms. per hour on an average.
~ Calculate the cost per running tone km.
- Kms run annual is 15,000.

" Tones per km average 6.
CETE s@ &Y, 83°.3,60,000
| T8 A, 6.1,600.
8 mBe g, 5°.12,000.
ol [~]
B 5°6 BNy 65°.2,400.
o L=
S855e Beren, 8°.54,000.
- Koeo® Lﬂaps 530, 8°.40.
ooty ROE5HDIN HyaH0, EI°.60.
60D Deadrd HEDE &.50. 20.
Bt Seronod 9B 8.5, 20.
2% 8.00.5 SosaBoen DTre BY) 820,

(20 By, woBEe $985°00 1,00,000 8.2,

 2-6-101



B D080 98 5% oo Bosre,

oKD SHea0d 1805 20 8.8, e08.
5 350) & 8. S50imn E6o08.
795 8.80. o2 15,000,

Or
Define Operating Costing. Explain the futures of Transport Coéting.
DEgres éédiﬁbcl DELV0B08. Eaea S"éoﬁ @Bw¥); OETON 258%80%08.

UNIT IV

From the following information of. product No.44, calculate (a) Material cost variance, -
(b) Material price variance, (c) Material usage variance, (d) Material mix variance.

Material Staljldard Standard qﬁ;‘;ﬁ;}y A_ctual
Qty. in Kgs. Price Rs. i Wers, price Rs.
X 20 L B 24 4.00
i 16 4 14 4.50
Z 12 3 10 3.25
48 48

L§o€6 BN BSTTED0 509 8B DY 44 By, Bl TOD B 0B04. (a) 2636006 ‘.
350> D38ea, (b) 206380505 &8 99889, (¢) DSBAHS IDBK 29883, (d) WBAHS WED
DWHYes. ) '

PRrRE  asngy TR

TD &S
2088006 358480 s b, SBITESO
' (Kgs.) (Kgs.)
X 20 5 24 4.00
Y 16 4 14 450
7 12 ' 3 10 3.25
‘ 48 : 48 '
Or : ) _
5 o o . . 2-6-101
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10.

11.

he following information calculate the following- )
Material usage variance,

From t
(b) Material price V

. ) ance, (€
(a) Material cost yvariance, ariance, (c)
(d) Material mix variance. ;

Standard Standard o _
quantity price Rs.

Type of
Material Qty. in Kgs. Price Rs.  ;n Kes.
M - 800 50.00 1000 40.00
N 400 60.00 500 50.00
Bods AR SRTTBI D09, 1Bo8 TR 58,0906
(@) 288cS 3y B8, ) olad $8 aBve, © 2o8600S OB HB0E,
(@) 288058 Do D3 |
SBaHS  ETRTERE @uareds TED R &8
. (Kgs.) — (Kgs.)
M 800 =~ 50.00 1000 40.00
N - 400 60.00 500 50.00
UNITV
What is the difference between fixed budget and flexible budget? Explain.
S5\ aigdS SoBOw 36 RS Ho BgTyes 597 95BOWBD.
Or
With the following data for 60% actiyity, prepare a flexible budget for prodvuction -
and 100% capacity? : ‘
Production at 60% activity 600.units
Material RS.10O per unit
. Labour Rs.40 per unit
Direct expenses Rs.10 per unit
Factory overheads Rs.40,000 (40% fixed)
Administration expenses Rs.30,000 (60% fixed)
6 = )
9-6-101




8 - ' ' |
S0t ST 60% VR0Z50 SRS cndgeEAnB 80% N0BAd 100% FBo S 98 wZes

éo‘ifti) DDod.

| 60% 59 anmgéo 600 ojgpg)e,;o
06380HS 0reDe5E) 8. 100
B ' DS 8.0
(9853 PBen SIS 8,10
5808 L9Birgy 85°.40,000 (40% R50)
S8R Poyen $3°.30,000 (60% ?gcsb)

7 . . 2-6-101
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THREE YEAR BA. DEGREE EXAMINATIONS, OCTORER/NOVEMBIER 2019
CHOLCE BASED CREDIT SYSTEM
FHEPH SN EESTER
Part = 1 Accountancey
(Blective - 1 Accounting)

"

Papor - 2: 5.2 GOODS AND SERVICES TAX FUNDAMENTALS
(Conmmon tor B.Com., General, ASP & SM, CA and Taxation)
(w.e.f. 2017-2018)

5

Time : 3 hours Max. Marks :

PART - A
DegrHS0 —

Answer any FIVE of the following questions.
50808 TVES® DJT® DL (HFPLD T FPAVIN.
(Marks : 5 x 3=15)

1. (a)  GSTC
GST 0&d

(b) SGST

(¢) Dual GST
&Scosg GST
(d) Exempted services from GST
GST 2008 DITFa00IVED VI
(e) Tax on Alcohol
se)biﬁé ;’):&Je)
(fy Tax on Tobacco products
2L GEyEe HR0) Bey
(g) © Service Tax

bnnaa

(P.T.0]
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(o1

-1

(h) IGST
IGST

(1)  Value of supply
RENT® eV

(G)  Input Tax Credit
65356‘59@ 2330

PART - B
DS — &

Answer ONE question from each unit.
58 olumRed Bod 28 (DI BT FroVA0.

(Marks : 5 x 12 = 60)
UNIT -1

What are the limitations of VAT?
55 By, HBEen D2

Or
Explain need for Tax reforms in India.

2rSE 005" D30)e 007, Br90 @S5D0") DH3Bo30E.

UNIT - 11
Explain Canadian model of GST.
856 GST doeesdid DisBosod.
Or
State principles of GST.
GST durEresn 8090,
UNIT - I11

What are the taxes subsumed under GST?
GST aboty 8o o2 Dinyen ID?
Or

Explain the taxes and duties outside the purview of GST.

GST @ws), 88 Sende és;é& ;’)r‘\b&w, Wosted DNBoSod.

2
1-5-101
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10.

11.

UNIT -1V

State objectives of IGST.
IGST Gws), oo BoDot.

Or

How Taxes are imposed, collected according 1o 1GST Act.

IGST 3gyo (95780 Ddxew ADGor DHosad, e Jabataron?

UNIT-V

What is supply? Explain the scope of supply under GST law.

D69o° @I ? GST D&0 180 [EHTe 388D D3BoI08.

Or

Explain how input tax is utilised.

20D 8y Jer DIGAF:E" D98oIod.
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THREE YEAR B.Com. DEGREE EXAMINATION, OCTOBER/NOVEMBER 2019
(CHOICE BASED CREDIT SYSTEM)

FIFTH SEMESTER

Paper-1:5.1- COST ACCOUNTING
(Common to B.Com-General, Comp. Appl., ASP & SM & Taxation and Tax Procedure)
(w.e.f. 2017-18)
Time : 3 hours Max. Marks : 75

SECTION - A
DRI —

Answer any FIVE of the following.
DT DO (HFPD BTwen FaLod.

(Marks : 5 x 3=15)
1. (a) Cost Accounting
5 &8 0e3of
(b) Cost unit
57 oS
(¢) Indirect material
56°% De3BabS,
(d) Material control
De3BanSy davoses
(e) Over time
£.36 B
(f) Piece rate method
DRBew $E8
(g) Escalation clause
I, B soer
(h) Cost-plus contracts

5“% ) S“oLeJ*’E‘gi’.D

™

(P.T.0.)



@) P/V Ratio

PIV 8
() Contribution
5‘0].&%8.15“5;'\5 |
| SECTION - B
DgrKsw - 8
Answer ONE question from each unit.
58 aoDed Jood ef (D BT [Eeahod.

(Marks : 5 x 12= 60)

UNIT -1

9.  From the following particulars of ABC Ltd., prepare _
(b) Works Cost and (c) Profit.

(@) Cost of materials consumed,

Particulars Rs.
Stock of material on 1-1-2017 20,000
Stock of finished goods on 1-1-2017 51,000
Purchase of raw materials 5,80,000
Productive wages 3,90,000
Sale of finished goods 12,10,000
Stock of materials on 31-12-2017 25,000
Indirect wages 86,000
Office expenses - 70,000

Stock of finished goods on 31-12-2017 50,000

a statement showing:

208 DSTreB S ABC dIia8 SaIBBED Salrtd Jabod :
(2) DIATR0DH e38aHSy  (b) 9By, y 5at0 B (c) @gfo

DJo°en &oe,
1-1-2017 3 De3BAHSy - 20,000
1-1-2017 & SArGS IOH 51,000
Snd Sorgre §°0R%en | 5,80,000
B0y SE Sesren 3,90,000
2
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A3 DO eadnto
a @

A1-12-2017 D 9y HeIdabdy

w b "
‘Jt) :“ t\S\fhn)“(‘U

[ X3
e8y) .\pdbw

31-12-2017 @(ﬁJ"“a_K) PTeSL:N

Prepare a cost sheet from the

Raw material consumed
Direct wages

Factory overheads
Office overheads
Selling price '

Selling overheads

Units produced

Units sold

12,10,000
26,000
86,000
70,000
50,000

Or

Rs.
1,60,000
80,000
16,000

10% of factory cost

Rs. 100 per unit
12,000
4,000
3,600

following data to find out profit and cost per unit:

alueded 1 8 ;’)501)0 308050 ergfo EDATHEIE Denrr (808 JBTCTE0 o Sgad DIBED

Salre Satoso.

ADARoODD sﬁoaci;’)a"q;w

LN Jesren

P86 £36 &y

e300 836 &y
QN5 18 eS8 5
o5 L3626y
&e8\B 53 ahrdey

@;’b&é ohy.’()m‘_g

8.
1,60,000
80,000
16,000
D580 S50 10%
100
12,000
4,000

3,600

2-5-101
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4.

Date
7-8-18
13-9-18
15-9-18
17-9-18
22-9-18
26-9-18

UNIT-1I

Prepare Stores ledger from the following information using simple average methog: .

Particulars Units - Unit cost (Rs.)

Purchases 210 2.50

Purchases 320 250
Issue of material 260 S e

__Purcha.ses 220 3.00
Issue of material 215

Purchases 225 3.00

BIOD DBrTE0 D A0S Rty ST Agrses i SEBS® Sair Sabod.

38
7818
13-9-18

15-9-18

17-9-18
22-9-18

26-9-18

DSoren Aordey  aeReS &8 (85°.)
SEVA élo ' 2.50
SEN 320 2,50
DeSBobSy B 260 .
SENE 220 3,00

33@380:1)6‘3 =8 215
?mﬁ*% ' 225 3.00

Or

5.  Prepare Stores ledger from the following information using LIF.‘O‘ method.

Date

- 2-9-18
10-9-18
14-9-18
17-9-18

22-9-18
95.-9-18

Particulars- Units Unit cost (Rs.)
Purchases 210 250
Purchases _ 320 2.50

Issue of material 260 '

Purchases | 220 | 3.00
Issue of material 215 - e
Purchases 225 3.10
4 \ : 2-5-101 -



-

BIOS SSrweSo B3 O e
© PAR0E" 1By ey 558S® LIFO sasrrdatod.

88 IWTW  alrdey  ardes B8 (&)
2-9-18 g"xnﬁ‘% 210 2.50
10-9-18 SRty 320 2.50
'14-9-I18 zm%aoméo =8 260
17-9-18 S, 220 3.00
22-9-18 edBanSyerd 215
25-9-18 SR 225 3.10

UNIT - II1

Calculate the earnin

and Rown Plas gs of a worker from the following information under Halsey plan

Standard time : 48 hours.
Tilne taken : 40 hours
Wage rate is - Rs.2 per hour
BIO3 2D DssIeE Ty DEE 2BA S HEB T IFT oD BF,008.
(Pr30eeds srosn 48 Hoeoen '
BROHI OS¢ 40 Koben
Hoeos®H 380 Bew  : Kot e, 2 e
Or

- Calculate earnings of workers A and B under Taylor's differential piece rate systems

from the following particulars.

. Normal Rate per hour : Rs.24
Standard time per unit : 30 seconds
Differentials to be applied :
80% of the piece rate below standard
120% of the piece rate above Standard
Worker A produces 800 unints per day and B produces 1000 units per day of 8 hours.

Bocs 2dyd DSOS sG)Hen A 2o8a B © $03-85:0 Seb éjcsn@ég DB 9658
[S5°80 B0R° S0, .
Koeo epredes Bew S - 8r2e
AK0mDe5 1 & |2esrelEseeo - 30 WY
$5B05BohBIOND e'jcr’ééS"eD :
(95820 K083 S8 1 DuBend” 80%
(52076200 D0DHIPE : DB’ 120%
sBjoen A 8 Hote B55208° 800 dhr"i)&n B0 B 1000 ahoedey ee{)@ 3aa=efu
5 . 2-5-101
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8.

UNIT -1V

: . | !
Prepare Contract Account showing the profit on the contract on 30

Contract Price
Materials sent to site
Labour engaged on site
Plant installed at site
Work certified:
Cash received
Value of plant ason 30t April 2018
Cost of work done, but not certified
Direct expenditure
. Cost of establishment
Wages outstanding as on 30t April 2018
Material in hand as on 30t April 2018

Direct expenses outstanding as on 30th April 2018

Materials returned to site

Rs.

©1,00,000

32,250
27,400
5,650
71,500
65,000
4,100
1,700
1,200
1,625
900

- 700
100

200

30 JPS, 2018 3 erz,jbx)& JD SO rERd SO DOH0E.

5RO RS

5P0eE) RO $0DR KD
DesTren

08D @‘;':)R')

c‘,bbéﬁoﬁ)é DD Ded

SRS B

30 D& 2018 I P;0e0 Jevd
DB $ Dewd

DK Py

-z‘g;’)é Sgabo

30 DS 2018 % 3YoTdyd JdTren
30 DS 2018 5 DeIBAHSy

30 DS 2018 & DoTDyS (e Py
PEDH THRD H0DD B0e36aHSy

Or
6

8.
1,00,000
32,250
27,400
5,650
71,500
65,000
4,100
1,700
1,200
1,625
900

April 2018.

2-5-101



9. Sri Mahesh const ;
: ructions L ave {
the following particu] td., have taken a contract for construction of a building. From

; ars prepare a Contr:
appear in Balance sheet pare a Contract account and work-in-progress as would

Contract price e
Wagos paid 1 ?,U(),()OO
Direct expenses v
Wages outstanding | 2,000
Direct expenses outstanding 1288
Work uncertified 14'000
Plant purchased 60,000 ‘
Matgrials ' ‘ { 3,362000
General overhead 32,000
Materials on hand at the end 4,000
Cash received (being 80% of work certified  6,00,000

Value of plant at the end 48,000

5_F. w2
F20 S5 350 DI T 2.8 255 Doyes S0 BROTYD. B0 DIT0E SOErY
e 5800 FBRIOED) 5 Dewdid IrHHEr s Bpe 9 ot Jabod.

&
SoETg) O 12,00,000
280D Desoren : , 3,40,000

| PS8 P . 8,000
Bic:)ow@oé Desoren 2,800
30Oy (585K o 1,200
8yDEB03 DI Dewsd 14,000
0t SRR e 60,000
Fe3BabSy 3,36,000
egrdes L35Gy 32,000

| SwRoDS FOS* &) EBADS) 4,000
DY S (85yD880DD 926t 80%) 6,00,000

48,000

S0RODD Fr0eD Do
| 2-5-101

[P.T.O.]



10.

11.

“(e) Ve &8

"UNIT-V

| Following information is related to a company:

Year Sales (Rs.) Profit (Rs.)
2017 1,50,000 20,000
2018 1,70,000 © 25,000

Calculate: .

- (a) P/V Ratio

(b) Break Even Point (B.E.P).

(¢) Sales required to earn a profit of Rs.40,000.
(d) Profit when sales are Rs.2,50,000

(e) Margin of Safety

BH% DdTren 2.8 Eon0E Ho0f0AH.

doSEBo ‘eiyko (8°.) ergio (63‘;)

2017 1,50,000 20,000
2018 1,70,000 ‘ 25,000
égbpéo& 2

(a)  P/VIRS

(b) DBoPocsd DK

(c) Boe. 40,000 &gfo @goéwbé 5P5yS exdysTen
(d) ey 4. 2,50,000 emn:é:)ycb ergio

Or
From the following particulars calculate

(a) P/V ratio
(b) Profit when sales are Rs.50,000

" (¢ New break-even point if selling price is reduced by 20%

(d) Fixed expenses Rs.16,000

(¢) Break-even point Rs.40,000

&e808 3500 S0 8E,0506

(a) PV .‘0:)‘955'2 |

(b) ea:.ﬁaés"m &5°. 50,000 empbnyda ergfo

(¢ ea;iaéé‘:g) %82 20% éﬁ?:)n, £ ooy 2ot

() f’gtﬁsﬁédifen &oe. 16,000

(&) Ddevos Do) 8= 40,000
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THREE YEAR B.Com.(General & Taxation and Tax Procedure) DEGREE EXAMINATION,

OCTOBER/NOVEMBER 2019
CHOICE BASED CREDIT SYSTEM

Elective - IV : Banking and Financial Services

Paper-1:5.4 - CENTRAL BANKING

Time : 3 hours

(b)
()
(d)

(e)

® .

(®)

(b

FIFTH SEMESTER

(W.E.F. 2017-18)

SECTION - A
Q0 - 2

Max. Marks: 75

Answer any FIVE of the following. Each question carries 3 marks.

DT D (BHEDH BIrEIred @abod. [H8 HHD 3 Sovty,e0.

(Marks: 5 x 3 = 15)

Meaning and definition of central bank
Bo|sergold k), 80 50810 c3o.

Bank rate policy
250 Bew e,

RBI Act
58.8.2. Styo.

Cash Reserve Ratio |
B Dog DB,

Repo rates

B¢ Bew.

Exchange Rate stability
;'D“’Bu)&aw 586&550.

Fiscal policy.

- 8% dgrdo.

Capital adequacy
SAT°OER ‘é:nag .

[P.1.0]



&

SECTION - B
Qe RS - &)

Answer any One question from each Unit.
98 ouedeS0d 8k B Sargrdo prapod.

(Marks : 5 x 12 = 60)
UNIT -1

Explain functions of central Bank.

30@3&)‘30&13 GE), Do DIBoSod.
' Or

Describe development of central Banks in India.

PSR FoeSt §0LCSaJ°§o§Jo Bk, eaa")éq)g:) DS580B08.
UNIT - II

Explain about credit control measures of RBL

©8.9.0 Gy, 5858 daboe 2GS0 K80 DBBoSod.
. : Oi‘ .
What are the functions of RBI as central Bank in India?
2890S o wrspom e5B.9.0 B, Deben D632
‘ UNIT - IIT
Explain about statutory liguidity Ratio.
TIOTHE (BI58¢ Y 1080 IBoS0s.
' Or

Explain about Monetary policy statements of RBI.
©5.8).0 Gy, (535 D (HEI 180D DS5BoSod.

UNIT -1V

Define inflation what are the instruments used to measure inflation.

85 5yeTR) MEDoSd. B0 Sored &5@RoD misares Ao,

Or

Describe the trends in price movements.
& 86% GBe E5dE0 2380508,

2 | o 92-5-111



10.

11.

UNIT -V

Explain the prudential norms.

EIPERODS D0gHes HB0d 58050,

Or
Explain the Basel-I1II norms.

BIS-I1T Doisded 580308,

2-5-111
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THREE YEAR B.A./B.Com./B.Sc. DEGREE EXAMINATION, OCTOBER/NOVEMBER 2019
CHOICE BASED CREDIT SYSTEM
FIFTH SEMESTER
Part - I : Computer Applications

Paper - 3 : 5.5 : WEB TECHNOLOGY
(Common for B.Com., Computer Applications Elective - II)

(W.E.F. 2017-2018)
Time : 3 hours : : Max. Marks : 75

PART-A
griS0 — 2

Answer any FIVE of the following. All questions carry equal marks.
D30 ot (BHODH BETGESR0E OB, ) [BHODH D58 HTHED.

(Marks : 5 x 3 =15)

1. (a) Define WWW.
WWW D :)6‘500&);5,1).

(b) Write the block structure of HTML program with example.
HTML program adw#), block structure <o STTSEE” [Praludn.

(¢) Write the syntax of the frame tag of HTML.
HTML 5069 frame tag %), 2067530 [afos0.

(d) Discuss about formatting blocks of information.
SSoearsso @Y, blocks & format Bakvesd HBo DHBoHIw.

(e) Explain data types in jav;a script with examples.
Java script 90¢® data types & GOS8 D580HI0.

() Define Object in JavaScript. Give ekamples.
JavaScript S0 Object & gDoWB0. SOTPEEIVBY.

(g) Define an event in JavaScript. Give examples.

JavaScript 50 Event & D805, GOrarEeding.

(h) What is-a regular Expression? Give example.

. Regular Expression 3Rl ? GEoordeadsoy.

[P.T.O.]



1o

() Explain about messages and conformations.
Messages >8ciw Conformations 809 D80S
(G)  What is the need of NEW keyword in java script? |
Javascript 3059 NEW e Keyword @Y, @S90°) [roihosn?

PART-B
gl - 8

Answer ONE question from each Unit. All questions carry equal marks.

(98 AIrDES5008 2.8 (S SErErHEN ErainB. @) PHES By, SRR,

(Marks : 5 x 12 = 60)
UNIT -1

Explain LAN, WAN and MAN topologies.
LAN, WAN 080350 MAN topologies & d3580:Ha00.

Or
Explain Hyperlink creation in detail with examples.

Hyperlink creation & DS8500m &@rEeos’ D809,

UNIT - 11

Discuss about multimedia objects.
Multimedia objects H80Y 1‘.68‘)01:53;'1».
' Or

How to implement our own style sheet? Discuss in detail.

% 5B 08 style sheet & IDGEIVMT AGOWLH ? DIBIVN® DSBoHEW.

UNIT - II1

- Discuss operatbrs in java script with suitable examples.

Javascript 5068 operators & S80I TS0 SBoYHIW.
Or

Discuss at least FIVE String functions with examples.

£950 £ String functions &orSee8" DSBoHI.

1-5-114



10.

11.

UNIT - IV

What is an exception? Explain with suitable example in java script.

Exception &3 322 darirses® Javascript 506 9580550,

Or

Discuss Built-in objects in java script with examples.

Javascript $0¢S® Built:in objects 3 &mrgrSrsos® 36 0S0R0.

UNIT -V

Explain rollover buttons in Javascript with suitable example.

‘J avascript 508 rollover buttons & 0BG SIS DSBoHSW.

Or

Explain text only menu system in Javascript with suitable example.

Javascript 9069 text only menu system & 985S &wrEes’ DHBoHd0.

1-5-114



TFIFTH SEMESTER

Partl — Compﬁter Applications
Paper 2: 5.4 — DATA BASE MANAGEMENT SYSTEM

(Common for B.Com. Computer Applications Elective - II)

(Weef 2017-2018)

‘Time : 3 hours

(b)

(d)

(€)

SECTION - A
VED -

1-5-113

THREE YEAR B.A./B.Sc./B.Com. DEGREE (CBCS) EXAMINATION —
OCTOBER/NOVEMBER 2019

Max. Marks : 75

Answer any FIVE questions. All questions carry equal marks.

IDD DED [FHODH TR0 FOHL. B (SH0L Br8),e0 HHIHI0.

(Marks : 5 x 3 =15)

Define the following :

(i) Data

(11) Database.

808 T°e30 DYgD0H0E

Q1) Ger

(1) Geradn.

Explain in brief about DBMS.

DBMS & £dore 2580550.

List data models.

e S O JaHod.

Write about DBMS Vendors. -

DBMS 2801 5809 Fratod.
Strong Entity Vs Weak Entity. _
Strong Entity Vs Weak Entity 20 92380%08&.

[P.T.0]



(&)

()  What is a relation? Give example.
BodO BHT IN? GETrSRRda0d,
(®)  List the data types in SQL.
SQL &° G Q)0 @ a0d.
(h)  Write the syntax and example for UPDATE command. |
SQL &° UPDATE fgﬁéoos Aoog); DoerEy BAk &EPIEReR) @roHod.
(1) List the advantages of PL/SQL.
PLISQL Gu0¥}, eraroy 3750,
() List any three default exce])l;ions in PL/SQL.

PL/ISQL &° o J3ae 3077¢h> 86 J8y5330 @ratrod.

SECTION - B
WES - B

Answer ONE question from each Unit.

All questions carry equal marks.
198 QIR 08 2l [$5% wravey okt
o) Lé@e;s:; B8, 00 B3I,
(Marks : 5 x 12 = 60)
UNIT -1

Explain the objectives of database management systems.

DBMS a3g), OFTFON DHBOHDW.
Or

Explain different types of database management systems.

DI 8500 e ;‘15"5?5@&0@5 Q'OQ‘S%) 809 DYoo 9585603904,

2 1-5-113
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10.

11

.W )

UNIT - 11

.Wnte a detailed note op components of database system.

DBMS &g, SP0RF0) 809 o 5B,

Or
rite ar detailed note on database architecture.

E,
G 8,858 1809 a%0om DIBoGd.

UNIT - III
Write a detailed note op Generalization and Specialization.

BIBTEIS 20800 WSBBRS K808 DgHoom 2980550,

Or

- What is Normalization? Explain 3NF and BCNF with examples.

TEHDBIS R 32072 INF 538050 BONT o meidrienos’ 956058,

UNIT -1V
Explain Data Definition Language commands with examples.
eI BIVIS roRgE L0yt &Trnes’ 9580:H9m.
Or
What is Constraint? Explain different types of constraints.

Constraint @5 2207 99¢ 8520 Constraints K809 9380350&.

UNIT -V
Explain the steps to create a PL/SQL block with an example.
PL/SQL 2760 (363065 Soinen fo RS0 &mrdenos® 93605)30.
Or |
Write a detailed note on database triggers. -

GBI Le%;gSQ K809 dHeorr dSBoHIw.

1-5-113
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THREE YEAR B.Com. DEGREE EXAMINATION -— MARCH/ APRIL 2019.
: THIRD YEAR EXAMINATION
, Part IT .
Paper IX — BUSINESS LAWS

(Common for B.Com. — Corporate Secretaryship, B.Com. — Taxation, B.Com. — Office
~ Management and Secretarial Practice, B.Com. — Advertising, Sales preparation and
_ Sales Management, B.Com. — General and B.Com. — Computer A_pp]ications)

(Revised from 2010-2011)

Time : 3 hours Max. Marks : 70
' SECTION - A
DErKS0 — D
Answer any IFive questions. Ilach question carries 2 marks.
o D> (FHo% SArETSBLN a0, (58 FHK 2 30ye.
| | (Marks : 5 x 2= 10)
1. (a) Social agreement
oy &50)0655
(b) Consideration
B8P0
(c) Capacity
| @véog§o
(d) Minor
%6
(e) = Bailor
gerd
(f) - Indemnity
aoam&es _
(g) Upaid seller
29oHew s8I am&ogafeﬁo.

[P.T.0]



Gl)_ Consumer
DA RTEE -
i Company secretary
Ko WEwd
0) _D_istrict form

Qe 085,

SECTION - B
DD - B
Answer One questions from each Unit.
B8 APDES Kood PN X (HHUL BT L;sooin:m.
' (Marks : 5 x 12 = 60) -
UNIT -1
2.  Explain the esséntidls of a valid contract.
ER0ERD oy BEsseR 98oved.

Or

3. Explain the legal rules as to the consideration.

—~

PEIO0 BE), TS 0¢e 380H0G. .
UNIT - 11
- 4. Write about special rules regarding minor agreements.
REE° BE"R) 2oTreh $o20Podd MR0EHER HIB0HIL.
Or
5.  Discuss the various methods of discharge of contract.
| o 5693 Jot SEB0OL 50T,

2 2 n et . S-362



~1

10

11.

Write the difi'erenceé between ind

UNIT - 11T

Write the right and duties of bailee
B B0y, TSy, en HBa D0 rakos.
Or

gtinguish between sale and agrebment to sell.

Deﬁne sale and agreement to sell and di
&5 o Arod 95B0YN-

esyEo B8N e fR00tS, @aRgoiy DEEI0D e
UNIT - v
Discuss the functioning of central consume‘r protection cou ncil.

o5 DBTRTEE B 208D SBRR0) IBBOYI.

Or
emnity and guarantee.
R0GHYed Bakw reggoele o drros @rodos.

- UNIT-V

Explain about the compulsory winding up of a company.

Ko Bk, dEYoE S8BT K082 2HB0HIN.

Or

State the rules relating to appointment qualifications of a director under the company

act 1956.
Konbe S0 1956 (8o B DOSE0EAD, BEHOR 080D B0,

3 - o ~ s-362
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THREE YEA_R B.A. (Accounts)/B.Com. DEGREE EXAMINATION —
OCTOBER/NOVEMBER _20 19.

(CHOICE BASED CREDIT SYSTEM)
FIRST SEMESTER
Part-1I

Paper 101 — FUNDAMENTALS OF ACCOUNTING -1 ‘
(Common to B.Com. — General, Comp. Appl., ASP & SM & Taxation & Tax Procedure) .
(Revised Syllabus w.e.f. 2016-17) '

Time : 3 hours ‘ _ Max. Mafks 175
SECTION - A
VES - D
Answer any FIVE of the following questions.
DT DY (SO BDATEHI0e0 [F050E0.
(Marks : 5 x3=15)

1. (a) Journalize the following transactions in the books of Prabhu :

2017 : z
1 Prabhu started business with cash 72,00,000

3 Paid into bank 70,000

5 Cash sales 30,000

7 Paid salaries 15,000

15 Paid rent 5,000

25 (Cash purchases 20,000

520 DIs0S’ ver Seyen @robod.

2017 : E
DS 1 SKSE° 1580 TGRTR) (FRE0POTeR 2,00,000

3 @HS” 3YoddB 70,000
5 NS edysen 30,000
7 D90dd Boren 15,000
15 3902 &)y | 5,000
25 S SRRRY) 20,000

[P.T.0]



(b)

(c)

Write an opening entry :
Plant ¥1,00,000; Furniture ¥15,000; Stock ¥45,000; Debtors %60,000; Cash in
hand ¥5,000; Cash at bank %22,000; B/P %13,000; Creditors ¥50,000;

O/S salaries ¥10,000.

| [2e808s ‘1‘1)%“ Se0 Erahod.

oen  ¥1,00,000; $GBE T15,000; Doy T45,000; awesifiyes 160,000 ;
38S° SN T5,000; ero0St B T22,000; Bdop Degeo  €13,000;

awecsen T50,000; dosdedd dares T10,000.

Enter the following transactions in a petty cash book in analytical form :

2017
Aug. 1 Petty cash in hand 1,000
2 Paid bus charges 350
4 Paid Telephone charges ¥250
8 Paid for printing 240
15 Paid for stationery T60
20 Purchased stamps 30

BIOS DHTOR TFIETHYE DYY DO DerS® 53526 Jahod.

2017
ey 1 38" é:9) DY S 1,000

9 23)) T°gen T350 IYodEIB.
4 89S Tfew Do T250
8 Roe3oh Do) T240
15 98 2o T60
20 oI §0R%ew T30

2 | 2-1-111




(d) Enter the following transactions in purchase book :

T
Jan. 1 Purchased goods from Nirmala 7,600
5 Returned goods to Nirmala 500
6 Divya bought goods from us 4,000
8 Sold goods to Ravi 3,000
10 Jyothi sold goods to us 4,000
15 Returned goods to Jyothi 600
8IS HgdIPoee) §7R0R e DHREOS® Harred Dabod.
£
BODB 1 Ao Mok §7F) SBH 7,500
5 .‘1)5&05) TR DD K 500
6 D Cﬁgtﬁ 0od 555 E7R) P8 4,000
g 828 dyd KK 3,000
10 &0 DI edyd SKHH 4,000
15 éise?g oI DD BB 600
(e) Write rules for:
(i) Personal a/c.
(i1) Real a/c.
(ii1)) Nominal a/c.
) 38K grme
(i) TR e
(iii) F0DBY) P GBooE), VORI O [Fro0s.
3 2-1-111
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(-t/Four reasons of difference between Cash book and Passbook.
SKE DHJ¥o By D PYo Doggfe BaroH R o D Treoly SPEErORD

Fraod.

(g) Suspense account,

TR PEe,

(h) Errors of Principles.

NEZOBIEN By

(i) ~ Features of cash book.
DK YHATo ofgTen.

(j)/ Different types of subsidiary books.

298 B0 SHADE HSen.

SECTION -B

ES - B

Answer ONE questions From each Unit.

58 AeReS 500 & (HHD SITEHin Erabod.
(Marks : 5 x 12 = 60)

UNITI
Write in brief any four of the accounting concepts.

©35°0e30R grden KBy @rabod. (ID TrenlDd grden).

Or
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3.

Pass journal entries :

~ Apr. 1

4

5

10

15

25

Business started with cash
Bought a computer

Goods purchased from Alex
Goods sold on cash

Paid for wages
Commission received
Personal drawings

Cash deposited in the bank

DT Sen Erahod.

DS 1

10
.15
19
20

25

TreBo Dr8000DE0E S
LoJgerb §0R e

0B 008 JHH SR e
SR D% edysten
2900 JdTen

DRSO DS

Jrodh TS0

2rotOS° Bre2eS JOD HHS

80,000
10,000
5,000
16,000
2,000
1,000
1,000

6,000

80,000

10,000

5,000

16,000

2,000

1,000

1,000

6,000

- 2-1-111
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UNIT II

From the following prepare necessary subsidiary books :

Jan. 1
4

5

10

17

18

21

26

Goods purchased from Varonika

Goods sold to Sandra

Goods purchased from Noel ¥7,000 at 10% trade discount
Goods'sold to Priyanka 74,000 at 20% trade discount
Goods returned by Sandra

Goods returned to Noel

Machinery purchased from Tata Agency

Purchased goods from Sunil on cash

BIODH A2 DHTOE’ ©IHED SHFODE HIseen BT IaHos.

238 1

10

17

18

21

26

2608 H0d B SRR

FPOIEED HBL eaps~en

SPaHES Kood §7°%) B T7,000 B 10% HEY Edw,0e0
Sodo. |
DOD0¥ eayd SKH T4,000 80D 20% SBEY Gam,0en Kol
Feo(¢é D0G DY SEL THoen

5‘01)5 S0 BB TeHR0ew

erer JBY) Hod ohoo SR en

T0HS 2008 DK P DK T0Rten

Or

6

3,000
5,000

1,000
1,000
7,250
1,327

3,000

5,000

1,000

1,000

7,250

1,327
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5.

Prepare three column cash book :

2017
Mar. 1
2

5

6

9

10

14

16

20

28

Opening balance of cash a/c 12,000 and Bank Afc. fS,ZOQ
Goods sold on cash ¥4,000 |

Goods purchased on cash ¥3,000

Cash paid into bank ¥5,000

Paid for postage ¥400

Cash with drawn from the bank for office use 2,000

Cash received from Suresh %3,900 allowed him discount 100
Cash paid to Anji 950 and allowed us discount ¥50
Dividends collected T800 |

Personal drawings from the bank 2,500

Qoumesd HEDL DS DeF HO3IE DaHok.

2017
;‘D"BJ 1

2

10
14
16
20

28

(8025 degen : HREL grae T 12,000 bqﬁoin a5°§o§3 e 8,200
RO D ea;‘pés"w 4,000

S D STRoR’en 3,000

oS’ B0e265 DS 5K €5,000

25920{;'):6 e:as‘gga 400

5D 59 dB0 250 Wod VD BKeH 12,000
KUBR 008 SOV HNO T3,900 AYYS Gam;0e0 T100
@025 Y0 DK TI50 DD &R 060 T50

SATPN ergroTeen 800

| eyt Rood A5S Arod Teesseen T2,500.

7 | 9411
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6.

UNIT III

From the following ledger balance, prepare trial balance as.on

Particulars

Cash in hand
Capital
Furniture
Telephone charges
Sales
Advertisement
Purchases

Office equipment
Creditors
Drawings
Discount (Cr.)
Salaries

Rent

Discount allowed

Commission earned

 Sundry debtors

Interest on investment

~ ™

Amount ¥
1,700
23,000
13,000

1,800

34,600
1,450
100
1,200
3,600
'50
300
33,400

1,000

31% December, 2017.

2-1-111



31&%

JJTeen Z’hné_f!;o E§
DAS® 518 1,700
SorresHo 23,000
$8y5% 13,000
B T°feo 1,800
@31)&'5"6:1) 15,500
[PEeden 6,800
SR 10,000
B9 S85Tren 1,500
200830 eD 34,600
Ao TrEisren 1,450
&a,065 (Cr.) 100
Reren 1,200
o 3,600
CIAY &K’T’boes 50
0D 8BS 300
éac’: 20063|/f0ew 33,400
DegaEe P DG 1,000
Or
9

0208 2017 T°¢38 8% VDI BHT P DL 0D WOEEFR HBALTE Davod.

21111
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Rectify the following errors :

(a)
(b)
(©)
(d)
(e)

Purchase books has been over casted b& 71,000.
Total of sales book carried forward 5,000 less.
Purchase from Dinakar ¥15,000 has been posted to the debit side of his account.
A credit sale to Ravi 5,600 credited as %6,500.

Goods returned to Rajesh 2,000 were recorded through purchase book however,

Rajesh a/c was correctly debited. -

805 BJpeH 3580B0d.

(2)
(b)
(©
(d)

()

E°0R%0 HYEo T1,000 Koy K eicRe.

@250 DL DNGO BEBB So5BTVE 5,000 B, ST FNHED RS,

8555 2009 SRR fis,ooo B T G DADEIB.

5623 8D @RS BKL Dewd T5,600 R0 76,500 eor BAS B,

TARD TR D 5He0 12,000 05 S50 Ten D¥oS* SA5eH DAHLEIG. 5D

T BN T DB Ged DADENE.

UNIT IV

Prepare bank reconciliation statement on 31.3.17 :

(a)
(b)
(©
(d)
(e)

Overdraft balance as per cash book %4,800.

Cheques deposited but not collected Z2,100.

Cheques issued but not presented for payment Z900.

On the standing instruction, the banker has paid insurance premium % 1,000.

Interest on overdraft €430 and bank charges, ¥70 appears in the pass book only.

10 2-1-111



250 DOge FNTAD H63 31.3.17 BB BALrKH Jood.

(a)

(b)

(©).

(d)

(e)

RN YKo P50 (HEre deg T4,800.

DY 5o’ Bdve3es BRivyeds, a‘)nﬁw‘s"écﬁ) £2,100.
Do e0 a8 B)eds, aéo@:ogg 2P0 Trpen s8> TI00.
FTETDH B0 08K ergotd 3Yodid Py (poao ¥1,000.

e50H 836G P ;é %430 080w argEd Tgew T70 2520868° Sov B S0

Or

31.3.16 the passbook shows a credit balance of %9,000. Prepare bank reconciliation

statement from the following particulars :

(a)
(b)
(c)
(d)
(e)

Cheques issued but not presented for payment Z7,000.

Cheques issued but omitted to be recorded in the cash book ¥3,800.
Cheques paid into the bank but not yet collect by the bank ¥2,600.
Premium of life policy paid by bank on standing advise ¥360.

Payment received from customers direct by the bank ¥2,000.

31.3.16 Fr v DHsHw 19,000 &S Dog BrHEYB. BI0H JHTeS” e dege

S05aT HE30 BakrE Dabod.

(a)
(b)

(c)
(d)
(e)

28 Bar &8 5°0 dEo,e0 T7,000.

B DaHds Dye0 dnso 13,800 oH I HIFoS” FArdd IabHow 89

DODHEPIB.
ag06° 250 DD DY) 2O 72,600 20887 20t T He DAHBK.

TR et BB ot T DYoo BB HAT P0ADO T360.

SFETREID $009 HNP DYoHO KT ergoHS” 3Y0dHB T2,000.

11 2-1-111
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UNITV

10. From the following trial balance of Jason, prepare Trading, Profit and Loss a/c and

- Balance Sheet on 31, March 16 :

z z
Capital 35,000 Returns outwards 110
Buildings 18,750 ‘Salaries 1,110
Machinery 9,250 Discoﬁnt allowed 200
Debtors 7,000 Stock (1.4.15) 16,500
General expenses 800 Bills payable _ 5,000
Rent paid 3,710 Sales | 63,500
Drawings 650 Purchases 46,850
Electricity charges 190 Wages - 2,500
Carriage inwards‘ 850 Cash in hand 1,800
Cash at bank 3,000 Suﬁdry creditors 10,000
Returns inwards 450

Closing stock is valued at ¥18,210.

B30 TB BI0S DHED wo¥er 2dtre Hod 31 2°8) 2016 T38 B8EY eves D% P

B0 &) e Soy B aHod.

¥ ¥
SorregHEn 35,000 SRR’ THB0en 110
Py 18,750 2o°ew 1,110
aooEHa 9,250 9008099 &@"boes 200
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11.

2| ffden
AESE HE O
39028 @)

L) @

0T Treisren

2OES” DK

eamésw TEHR0eD

SR S deg dewd T18,210.

T
7,000 psTe SIS C]N (1.4.15)

800 290N Deyew
3,710 O2R5°®

650 SRR

190 BT°ew

850 IOS’ DI

3,000 2DETCEIeN

450

Or

4

16,500

5,000

63,500

46,850

2,500

1,800

10,000

From the following Trial Balance on 31.12.15, Prepare Trading, Profit and Loss Account

and Balance Sheet as on the date :

Debit Balance
Opening stock
Purchases
Sales returns
Postage
Buildings
Wages
'Administrative exp.

Debtors

4 Credit Balance
22,000 Purchase returns
38,500 Sales

5,000 Interest

2,100 Creditors
20,000 Bills_payable
10,000 Capital

4,800

12,200

13

£
2,000

60,000
6,400
14,000 |
2,600

75,000

2-1-111
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Debit Balance R Credit Balance £

0i], gas 7,300
Stationery 4,700
Bills receivable 8,400
Freight in 8,000
Insurance ' 3,000
Bank 14,000
1,60,000 1,60,000
Adjustments : - -

(@) The closing stock was ¥33,000.
(b) Outstanding wages ¥1,000.
(¢) Prepaid insurance ¥500.

(d). Bad debts on debtors T 200.

10D a2)S wo¥er 31.12.15 2008 JYEY ov Hpo o> O &Y VIpo S AT

Do%Hod.
a0 degen z BéeS degen 7

808 HEK deg 22,000 §TR0R%e0 By 2,000
§%50R e 38,500 ®5eD 60,000
SRRSO TSRO 5,000 $G : 6,400
DR 2,100 @EEbes 14,000
&S5Te0 20,000 3905 Frvoden 2,600
Ddaren 10,000 S0T°0Ed0 75,000
QYGres PB)en 4,800

ameatﬁ"a)_open 12,200
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GoeS 3056).) ¥ [-_3(195 DLV 4

S, i 7.300
S

38 4,700
DAen Tmyoden 8,400
SRoR'en Sere 8,000
P 3.000
ar30%H 14,000

1,60,000 1,60,000

Nlo MLV

(a) SRoPH I deg 33,000.

(b) 3oBDeD DsTen T1,000.

(c)  Sowodone 3dodid Hr T500.

(d) 2weited oo arfen 1200 So.
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THREE YEAR B.Com. DEGREE EXAMINATION, OCTOBER/NOVEMBER 2019

CHOICE BASED CREDIT SYSTEM

Paper-102: BUSINLSS ORGANIZATION

FIRST SEMESTER
Part - I1

(Common to B.Com-General, Comp. Appl., ASP & SM & Taxation and Tax Procedule)

(Revised syllabu,s w.e.f. 2016-17)

Time : 3 hours

(b)
(©)
(d)
(e)
®
®

(h)

Answer any FIVE of the following questions.
DT D %05 SArEEssnes [ERakosw.

Industry
HBE

Commerce

;m%eséo

Entrepreneur
SgIPHRE
@

Innovative Entrepreneur

DKD‘?‘_’@& Sﬁzsa')i)“ﬁﬁ)(i)
[
Partnership Deed
E,J"Kﬁ'a‘smas &;’)00650
Minor partner
DB R
Common seal

F5EI0S

Government company

Babes Ko

SECTION - A
JgPRB0 -

(Marks : 5 x 3 = 15)

Max. Marks: 75

[P.T.O]



| S)

(1)  Articles of Association
5020 DoHRITHY

() Incorporation of company.
Eonn SR,

SECTION - B
e - &

Answer ONE question from each Unit.

98 alrrDeS 008 ¥ HED OBEErHSD @raVSw.

(Marks : 5 x 12 = 60)
UNIT -1

What is Trade and Explain aids to Trade.
30 SBaK 38 Bearen K-8y SByoSod.

Or

Define Business. Explain its characteristics?

TR GO, T OFETOD [Frohod.

UNIT -1I

Define Entrepreneur. Explain the various types of Entrepreneurs.

IFSRH0Y NI, DI 8570 BpRR0HOND 178y flerileleH

Or

Explain functions of Business

T8 Do Frod0k.
UNIT - III

Explain benefits of Sole proprietorship.
OB RB0 Y, SPETORD 80506,

Or
What is Partnership? and Explain its advantages.

rIRegR050 XTI ? HBAL T [PairaTres Bosod.

2
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10.

11.

UNIT - IV

Explain various types of Companies.

A Bs°e Eode H80d FoDHosk.

Or

Distinguish between Private and Public Limited companies.

23ew $08a5n 588 SWBE obde gy Barei ErALOG.
UNIT-V

Explain clauses of Memorandum of Association.

ROREDI HB0SD Fered dodod.

Or

What is Prospectus? Write its content.

583D S0 eITIAD ? T°ed woToD Frahod.
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THREE YEAR B A DEGHREE EXAMINATION — OCTOBEI/NOVEMBER 2010

CHOMCE, BASED CREDIT SYSTEM
THIRD SEMESTER
Part 11— Accounts

Paper - CORPORATE ACCOUNTING

(Common o B A B Com. ASP & SM, CA, General Taxation and Tax Procedure)

(twe f 2016-17)

Thame - 3 hours Max. Marks - 75

1. a)
{b)
{c)
{d)
{e)
H
(g)
(h)
(32

)

SECTION - A

Answer any FIVE of the following.
Fach question carries 3 marks.

(Marks:5 x3=15)
Forfeiture of Shares.
Buyback of shares.
Debenture redemption.
Own debentures.
Super profits.
Define goodwill.
What are the conditions necessary for valuation of shares?
Diiference between real value and market value of shares.
Difference between current assets and fixed assets.

What 18 meant by interim dividend?

(P.T.O.)



o

SECTION - B

Answer ONE question from each Unit.
All questions carry equal marks.
(Marks : 5 x 12 = 60)

UNIT I

A company issued 1,00,000 equity shares of Rs. 10 each at a premium of Re. 1. Payment

is as follows :
Rs. 3 on application; Rs. 3 on allotment; Rs. 3 on first call; Rs. 2 on final call.

Applications received for 1,30,000 shares. 20,000 applications are rejected and allotted
for remaining shares on pro-rata basis. All payment on shares are received except final
call on 3000 shares. These shares are forfeited and reissued at 8.50 fully paid.

Journalize.
Or

What are the rules and regulations given by SEBI on buyback of shares.

UNIT II

What is meant by Debenture? What are the types of debentures?
Or

On 1.1.2012 a company issued 5000 debentures at par. On 31.12.2016 debentures are
redeemed at par. For this purpose company provided sinking fund and invested at 5%.
One rupee value at 5% from sinking fund tables is 0.180975. On 31.12.2016 investments
are sold at 3,60,000. On that date bank balance shows Rs. 1,45,600. Journalize the .

transactions.

UNIT III

From the following data, calculate goodwill of Aswin Co. by three years purchase of

super profits by 4 years average profit.

Fixed assests Rs. 8,00,000; Current assets Rs. 80,000; Current liabilities Rs. 1,60,000;
Normal yield rate 15% of average capital. Manager remuneration Rs. 10,000 p.a. Profits
for 4 years respectively: Rs. 1,20,000; Rs. 1,30,000; Rs. 1,50,000; Rs. 1,40,000.

Or

What are the factors considered at the time of valuation of goodwill?

2 1-3-101



10.

11:

UNIT IV

Discuss different methods of valuation of shares.

Or
X Ltd. balance sheet is as follows. Calculate value per share.

Rs. | Rs.
Share capital : Goodwill 1,90,000
20,000 equity shares of Rs. 10 each 2,00,000 Investments 3,00,000
Reserves 2,40,000 Current assets 50,000
Surplus alc 30,000 Loans and advances 30,000
Unsecured loans ’ 80,000
Current liabilities 20,000

5,70,000 | 5,70,000

For valuation of shares goodwill is calculated as two years profit purchased on average of
5 years average profit. Five years profit amounted Rs. 60,000; Rs. 70,000; Rs. 40,000; Rs.
50,000; Rs. 50,000.

UNITV

Prepare balance sheet with imaginary figures under Companies Act 2013.

Or

From the following prepare final accounts as per Companies Act 2013. Authorized

“capital Rs. 30,00,000 Rs. 10 per share.

Debit balances Rs. Credit balances Rs.
Purchases 9,25,000 Paid up capital 20,00,000
Wagés 4,24,325 Surplus a/c (Cr.) ’7‘2,500
Production expenses 65,575 6% Debentures 15,00,000
Salaries 70,000 Creditors 2,90,000
3 1-3-101
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Debit balances
Bad debts
Directors fees
General expenses
Opening stock
Goodwill
Cash in hand
Cash at bank
Interest on debentures paid
Preliminary expenses
Calls in arrears
Plant and Machinery
Premises
Interim dividend paid
Furniture

Debtors

Additional Information :

(a)
(b)
(c)
(d)
(e)

Rs. Credit balances
10,5650 Bills payable
31,125 Sales
84,175 General reserve
3,75,000
1,00,000
28,750
1,99,500
45,000
25,000
37,500
15,00,000
16,50,000
1,87,500
35,000
4,36,000

Provide 10% depreciation on plant.

Preliminary expenses written off Rs.2,500.

Closing stock Rs.4,55,000.

Provision for bad debts on debtors Rs. 4,250.

6 months interest on debentures outstanding,

Rs.
1,67,500
20,75,000
'1,25,000
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